Circles

	x2 + y2 = r2  is the equation of a circle centre the origin, radius r.

(x – a)2 + (y – b)2 = r2  is the equation of a circle centre (a,b), radius r.




1. Write down the equation of each circle

(a) centre the origin, radius 6                          (b)  centre (2,5), radius 10

(c) centre (-3,0), radius 4                                (d)   centre (0,0), radius 
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(d) centre (-2,-6), radius 
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2. Write down the centre and radius of each circle below.

       (a)  x2 + y2 = 64                                               (b)  (x – 4)2 + (y + 3)2 = 49

       (c)  (x + 5)2 + y2 = 12                                      (d)   x2 + y2 = 28

       (e)  (x + 2)2 + (y – 6)2 = 8                                (f)    x2 + (y + 10)2 = 121

3. Say whether each point lies inside, on or outside the given circle.

       (a) (-2,5)       x2 + y2 = 25                                (b)  (1,-3)      x2 + y2 = 10

       (c) (4,9)        (x – 3)2 + (y – 2)2 = 50               (d)  (0,-3)     (x – 2)2 + (y + 4)2 = 10

       (e) (2,2)        (x – 5)2 + y2 = 13

4. The point (a,3) lies on the circle with equation  x2 + y2 = 45.

    Find the possible values of a.

5. The point (2,c) lies on the circle with equation  (x – 4)2 + (y – 1)2 = 13.
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    Find the possible values of c.

6. The point (d,-3) lies on the circle with equation  (x + 2)2 + (y + 1)2 = 29 .

    Find the possible values of d.

7. A circle has centre (-3,3) and passes through the point (1,0).

    Find the equation of this circle.
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8. A circle passes through the point P(4,-2) and has centre (-2,-5).

    Find the equation of this circle.

9. The end points of the diameter of a circle are A(-5,2) and B(3,10).

    Find the equation of this circle.
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    10. The end points of the diameter of a circle are P(-2,-2) and

         Q (6,-10).  Find the equation of this circle.
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 11. ST is a diameter of a circle with S(5,1) and T(11,-5).

       Find the equation of this circle. 

 12. MN is a diameter of a circle with M(-4,2) and N(10,-4).

       Find the equation of this circle. 
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